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Q6. __________ is the synonym of "BRITTLE". 
 

A. Intelligent B. Bright 

C. Breakable D. Tough 

 

Q7. ___________ is the antonym of "PRECISE". 
 

A. Accurate B. Uncertain 

C. Absolute D. Beautiful 

 

Q8. Identify the meaning of the idiom "a bed of roses". 
 

A. An easy situation B. A fragrant place 

C. A tough option D. An impossible situation 

 

Q9. The sentence has an incorrect phrase, which are shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
 
What time is the exam start? 

 

A. time the exam be B. is starting time 

C. is exact exam time of D. time does the exam 

 

Q10. Complete the sentence by choosing the correct word from the given options. 
Although it rained heavily this monsoon, there is a ________ of rainfall in some parts of 
the state. 

 

A. excess B. deficit 

C. moderate D. overflow 

 

Q11. The Indian leader who declared "Swaraj is my birthright": 
 

A. Shri. Subash Chandra Bose B. Shri. Aurobindo Ghosh 

C. Shri. Bal Gangadhar Tilak D. Shri. Vallabhai Patel 
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Q11. .?1$I0 )O$? �?m9K)O "स㡍=1?? /O1? ?m/ �?्䵍 
�?�?1 9P" �ी  K?#? �ी %I: 
 

A. ्䵦I @I.?? �
� -K@ B. ्䵦I 
1--
.K  K? 

C. ्䵦I -?ल �
�?/1 -?ल� D. ्䵦I =ल㉍ल. .?� +�Oल 

 

Q12. Who will lead the Indian Under-19 Cricket team in the 2020 U-19 World Cup 
tournament? 

 

A. Prithvi Shaw B. Dhruv Chand Jurel 

C. Priyam Garg D. Yashasvi Jaiswal 

Q12. 2020 
�!1 -19 �=� �+ �K)?ा/े䜂� /े䜂 .?1$I0 
�!1 -19 �ि�O � �I/ �? )O$Lm= �L) �1O�?? 
 

A. +mृ=I >I B. �I= �
� �I1Oल 

C. �ि0/ ��� D. 0>}=I �P@=?ल 

 

Q13. The Nagarjuna Sagar Dam is built across the __________ river. 
 

A. Krishna B. Mahanadi 

C. Narmada D. Godavari 

Q13. )?�??�ा) ??�1 -?�? _____________ )&I +1 -)? 9P।. 
 

A. �ृ�,? B. /A?0.I 

C. 0/�.? D. �K.?=1I 
 

Q14. As on December 1, 2019, there are ________ Union Territories in India. 
 

A. 7 B. 9 

C. 11 D. 12 

Q14. 1 �&?�-1, 2019 /े䜂 .?1$ /े䜂 ________ �े䜂 � >?�?$ �&O> %O। 
 

A. 7 B. 9 

C. 11 D. 12 
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Q15. To contest the Lok Sabha elections, one must have completed _________ years of age. 
 

A. 18 B. 21 

C. 25 D. 28 

Q15. लK� ?.? ��)?= लडℼ)O �O  �ल� ______________ =?ा �ी �0� +K#ा 9K)I �?�9�। 
 

A. 18 B. 21 

C. 25 D. 28 

 

Q16. Haryana was formed as a new state on _____________. 
 

A. January 26, 1966 B. November 1, 1966 

C. May 1, 1966 D. June 1, 1966 

Q16. 9र10?#? _____________ /े䜂 �� )0? 1?जᱍ0 -)? %?। 
 

A. �0=1I 26, 1966 B. 0=
-1 1, 1966 

C. /� 1, 1966 D. �ू0 1, 1966 

 

Q17. The First Battle of Panipat was fought in the year ____________. 
 

A. 1526 B. 1556 

C. 1671 D. 1761 

Q17. +?)I+$ �ी +9लI लडℼ?� =?ा ___________ /े䜂 लडℼI �� %I। 
 

A. 1526 B. 1556 

C. 1671 D. 1761 

 

Q18. What does BBY stand for when referring to BBY Scheme? 
 

A. Bhartiya Bhojan Yojna B. Bharat Bima Yojna 

C. Bijli Bachao Yojna D. Bhavantar Bharpayee Yojna 
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Q18. BBY स㡍�ी/ /े䜂 BBY �? +K1? )?/ ]0? 9P? 
 

A. .?1?I0 .K�0 0K�0? B. .?1? -I/? 0K�0? 

C. --�लI -�?� 0K�0? D. .?=
?1 .1+?� 0K�0? 
 

Q19. Recently, 1000-year old sculptures of a Shivling and Nandi were discovered by miners 
while digging sand on the banks of Yamuna river in Karnal's _____ village. 

 

A. Faridapur B. Baldhi 

C. Chakbhari D. Jarauli 

Q19. 9?ल 9I /े䜂 �1)?ल �O  _____ �??= /े䜂 0/�)? )&I �O  $� +1 1O$ �ी ��&?� �1$O ?/0 ��)� ्䵛?1? �� �>=�ल�� �1 )�&I �ी 1000 
??ल +�1?)I /K�$ा0K �ी �K? �ी �� %I। 

 

A. ,1I.?+I1 B. -ल/I 

C. ��.1I D. �1LलI 
 

Q20. As on December 1, 2019, __________ is Haryana's Home Minister. 
 

A. Shri Kanwar Pal B. Shri Anil Vij 

C. Shri Dushyant Chautala D. Shri Om Prakash Yadav 

Q20. 1 �&?�-1, 2019 /े䜂, __________ 9र10?#? �O  �L9 /�}I %O। 
 

A. ्䵦I �
 =1 +?ल B. ्䵦I 
-0ल �=� 

C. ्䵦I .I�0
? �L�?ल? D. ्䵦I �/ ि�?> 0?.= 
 

Q21. Which Haryana Sportswoman was awarded the Sportswoman of the Year (Individual 
Sports) at the Indian Sports Honours Awards 2019? 

 

A. Ritu Phogat B. Manu Bhaker 

C. Vinesh Phogat D. Savita Punia 
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Q21. ���!0) स㡍+K�ट ा? �)?ा 
=?!ट ा? 2019 /े䜂 9र10?#? �ी ��? /�9ल? ��ल?डℼI �K स㡍+K�ट ा?=�/O) �, & �01 (���!�=?�
ल स㡍+K�ट ा?) ?O 
?म⹍/?�)$ ��0? �0? 9P? 

 

A. ऋ?I ,K�� B. /0I .?�1 

C. �=0O> ,K�� D. @�=?? +-ू00? 
 

Q22. Among the ten Lok Sabha constituencies of Haryana, how many constituencies are 
reserved for Scheduled Caste/Scheduled Tribe candidates? 

 

A. 1 B. 2 

C. 3 D. None 

Q22. 9र10?#? �O  &? लK�?.? �O}K /े䜂 ?O, 
)�?K��$ ??�$/
)�?K��$ ?)??�$ �O  �म⹍/I&=?1K �O  �ल� ��$)O �)=?ा�) �O} �1��$ 9ै䠂? 
 

A. 1 B. 2 

C. 3 D. �K� .I 0AI
 
 

Q23. In memory of the famous poet and scholar, Khwaja Altaaf Hussain Haali, a school was 
established in his hometown, ____________. 

 

A. Sonepat B. Faridapur 

C. Panipat D. Bhiwani 

Q23. ��?्䵍 ��= �1 �=्䵛?), _=??? 
ल㉍$?, 9ु?P) 9?लI �ी 0?& /े䜂, �)�O  �L9 )�1 ____________ /े䜂 �� स㡍�K ल स㡍%?�+$ ��0? �0? 
9P। 

 

A. @K0I+? B. ,1I.?+I1 

C. +?0I+? D. भ.=?0I 
 

Q24. Shri Joginder Singh, one of the important literacy personalities of modern-day Haryana, 
wrote in which three languages? 

 

A. Hindi, Punjabi, Urdu B. Haryanvi, Urdu, Punjabi 

C. Hindi, English, Urdu D. Punjabi, Urdu, English 
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Q24. ्䵦I ?K���&1 �?�9, �?��)� 9र10?#? �O  /9m=+K#ा ??�9�m0� }0�िm=K /े䜂 ?O ��, �L) ?I $I) .???� � /े䜂 �ल�$O %O? 
 

A. 9A
.I, +
�?-I, �.ू� B. A10?,=I, �.ू�, +
�?-I 

C. 9A
.I, 

्䵇O�I, �.ू� D. +
�?-I, �.ू�, 

्䵇O�I 
 

Q25. The Hindi magazine "Sandesh" was started by ___________. 
 

A. Pandit Tulsiram Sharma Dinesh B. Shri Ayodhya Prasad Goyaliya 

C. Shri Uday Bhanu Hans D. Pandit Neki Ram Sharma 

Q25. �9�&I +�}�? "?m&O>" __________ ्䵛?1? >�z �ी �0I %I। 
 

A. +
)?? ?Iल@I1?/ >/?� 9.0O> B. ्䵦I 
0Ko0? ि@?. �K0भल0? 

C. ्䵦I �.0 .?0I A
@ D. +
)?? 0O�I 1?/ >/?� 
 

Q26. The Shivalik mountain range borders Haryana in the _____________ side. 
 

A. Eastern B. Northern 

C. North Western D. Southern 

Q26. �>=?�ल� +=ा$ ्䵦L��ल? 9र10?#? �ी ___________ ?I/? /े䜂 9P।. 
 

A. +=ूी B. �्䵈1I 

C. �्䵈1 +���/I D. .्䵌ि,I 
 

Q27. In terms of area, which is the largest district of Haryana? 
 

A. Bhiwani B. Faridabad 

C. Sirsa D. Hisar 

Q27. �O},ल �ी o�? ?O, 9र10?#? �? ?-?O -डℼ? �?ल? �L) ?? 9P? 
 

A. भ.=?0I B. ,1I.?-?. 

C. भ@1@? D. 9A@?1 
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Q28. What is the strength of the legislative Assembly of Haryana? 
 

A. 85 B. 86 

C. 90 D. 92 

Q28. 9र10?#? �=??)?.? /े䜂 �)=?ा��$ �=??0�K �ी ?�_0? ]0? 9P? 
 

A. 85 B. 86 

C. 90 D. 92 

 

Q29. Which of the following is a wildlife sanctuary in Surajkund of Haryana? 
 

A. Bir Shikargah Wildlife Sanctuary B. Asola Bhatti Wildlife Sanctuary 

C. Khol Hi-Raitan Wildlife Sanctuary D. Saraswati Wildlife Sanctuary 

Q29. 9र10?#? �O  ?K1?��� ! /े䜂 �)म⹍)�ल��$ /े䜂 ?O �L) ?? =m0?I= 
.0?1o0 9P? 
 

A. -Iडℼ भ>�?1�?A =m0�I= 
.0?1o0 B. 
@Kल? .टὍ�I =m0�I= 
.0?1o0 

C. �Kल-AI 1?0 =m0�I= 
.0?1o0 D. @1}=?I =m0�I= 
.0?1o0 

 

Q30. The Haryana State Pollution Control Board is planning to study the sources of air and 
noise pollution in _______severely polluted cities of Haryana. 

 

A. One B. Two 

C. Three D. Four 

Q30. 9र10?#? 1?जᱍ0 �&K?# �)0�}# -K!ा, 9र10?#? �O  _______ 
m0�?� �&K�?$ >91K /े䜂 =?0� �&K?# �O  ?K}K �? 
o00) �1 19? 9P। 
 

A. �� B. .K 

C. ?I0 D. �?1 
 

Q31. Which of the following languages is the official language of Haryana? 
 

A. Haryanvi B. Punjabi 

C. Hindi D. Jatu 
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Q31. �)म⹍)�ल��$ /े䜂 ?O �L) ?I .??? 9र10?#? �ी ��?�?र1� .??? 9P? 
 

A. A910?,=I B. +
�?-I 

C. 9A
.I D. �?�ू 
 

Q32. Haryana surrounds Delhi on _______ side(s). 
 

A. One B. Two 

C. Three D. None 

Q32. 9र10?#? _______ �1/�1K ?O �&ल㉍लI �K  O1$? 9P। 
 

A. �� B. .K 

C. ?I0 D. �K� .I 0AI
 
 

Q33. Haryana Chief Minister has announced an incentive of _____ per quintal to the small and 
marginal farmers to prevent stubble burning. 

 

A. Rs. 500 B. Rs. 400 

C. Rs. 200 D. Rs. 100 

Q33. 9र10?#? �O  /�_0/�}I )O �K�O �1 ?I/?�$ ��??)K �K  K�  ?ल?)O ?O 1K�)O �O  �ल� _____ ��$ �]=��ल �Km??9) &O)O �ी  K?#? �ी 9P। 
 

A. Rs. 500 B. Rs. 400 

C. Rs. 200 D. Rs. 100 

 

Q34. Which district of Haryana excels in mushroom production? 
 

A. Panipat B. Sonipat 

C. Ambala D. Sirsa 

Q34. />z/ �m+?&) /े䜂 9र10?#? �? �L) ?? �?ल? �m�L ? 9P? 
 

A. +?0I+? B. @K0I+? 

C. 

-?ल? D. भ@1@? 
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Q35. The parliamentary committee set up by the Indian Government for reorganization of 
Punjab was headed by ___________. 

 

A. Justice J C Shah B. Master Tara Singh 

C. Sardar Hukam Singh D. Sant Fateh Singh 

Q35. .?1$ ?1�?1 )O +�??-I �ी /?m0$? �O  �ल� ?�?&I0 ?�/�$ �ी स㡍%?+)? �ी %I �??�? )O$Lm= ____________ )O ��0? %?। 
 

A. ��}�@ �O.@I. >?A B. /?}�1 ??1? भ@
A 

C. @1.?1 AI�/ भ@
A D. @
? ,?OA भ@
A 
 

Q36. A malicious software program that can reside on a computer and can modify, delete the 
files and can make any software program to act in an unexpected manner is called a 
_____. 

 

A. Worm B. Spyware 

C. Virus D. Trojan 

Q36. �� &�.?ा=)?+K#ा ?Q़㱸�=O01 �K्䵇?/ ?K �� o0K�1 +1 �)=?? �1 ?�$? 9P �1 फ?�लK �K 9�? ?�$? 9P, �1 ��?I .I ?Qo�=O01 ?O 

)+O��$ $1I�O  ?O �?/ �1=?$? 9P �?O ______ �9$O 9ै䠂। 

 

A. =K/� B. }+?�=O01 

C. =?�1@ D. ्䵏K�0 

 

Q37. In Computer parlance, which of the following options is NOT an Operating System? 
 

A. Windows XP B. Linux 

C. DOS D. Python 

Q37. �� o0K�1 �ी .??? /े䜂, �)म⹍)�ल��$ /े䜂 ?O �L) ?? �=�ल㉍+ �+1O���� �?स㡍�/ )9ी䀂 9P? 
 

A. �=
?K� �कᕍ@ +I B. भल0कᕍ@ 

C. ?I@ D. +?�-0 
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Q38. Which of the following computer devices is both an input and an output device and is also 
a storage device? 

 

A. Monitor B. Processor 

C. Central Processing Unit D. Keyboard 

Q38. �)म⹍)�ल��$ /े䜂 ?O �L) ?? �� o0K�1 �!=?�? �� �)+�� �1 ���+�� �!=?�? 9P �1 स㡍�K1O? �!=?�? .I 9P? 
 

A. /I-0�1 B. िK@O@1 

C. @े䜂्䵏ल िK@Oभ@
� 0ू-0� D. �I-K?� 
 

Q39. Which of the following options is NOT a valid email address? 
 

A. contactxyz@abc.corp B. contactxyz@abc.co.in 

C. contactxyz@abc.org D. contactxyz@abc.gov 

Q39. �)म⹍)�ल��$ /े䜂 ?O �L) ?? �=�ल㉍+ =P? �-/Oल +$? )9ी䀂 9P? 
 

A. contactxyz@abc.corp B. contactxyz@abc.co.in 

C. contactxyz@abc.org D. contactxyz@abc.gov 

 

Q40. Pick the odd one out. 
C, D, E, F, G 

 

A. B B. D 

C. E D. F 

Q40. �.m) �? �0) �ी�?0O। 
C, D, E, F, G 

 

A. B B. D 

C. E D. F 

 

Q41. BG :JO : : MC : ? 
 

A. LR B. UK 

C. PV D. SY 
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Q41. BG : JO : : MC : ? 
 

A. LR B. UK 

C. PV D. SY 

 

Q42. Find the missing number in this series: 2, 6, 13, 23, 36, __. 
 

A. 56 B. 52 

C. 51 D. 43 

Q42. �? ्䵦L��ल? /े䜂 ल�्䵎 ?�_0? �K _?$ �1े䜂: 2, 6, 13, 23, 36, ___. 
 

A. 56 B. 52 

C. 51 D. 43 

 

Q43. If REST is coded as 6821, LOOSE is coded as 73358 and GONE is coded as 9348, what 
will be the code for LONGEST? 

 

A. 7834931 B. 7932841 

C. 7349821 D. 7034831 

Q43. 0�& REST �K 6821 �O  z+ /े䜂 �ल�? ??$? 9P, LOOSE �K 73358 �O  z+ /े䜂 �ल�? ??$? 9P �1 GONE �K 9348 �O  
z+ /े䜂 �ल�? ??$? 9P, $K LONGEST �K �P ?O �ल�? ??��?? 

 

A. 7834931 B. 7932841 

C. 7349821 D. 7034831 

 

Q44. Find the value of the following: 
15% of 1500 + 44% of 2500 = ? 

 

A. 1150 B. 1250 

C. 1275 D. 1325 

Q44. �)म⹍)�ल��$ �? /?) _?$ �ी�?�: 
1500 �? 15% + 2500 �? 44% = ? 

 

A. 1150 B. 1250 

C. 1275 D. 1325 
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Q45. Priti purchased a cycle for Rs. 1800 and sold it for Rs. 2050. Find her gain percent 
(approximate). 

 

A. 12% B. 14% 

C. 8% D. 7% 

Q45. �I�$ )O 1800 y+0O /े䜂 �� ??���ल �1I&I �1 �?)O =9 ??���ल 2050 y+0O /े䜂 -O� &I। �I�$ �? ल?. ��$>$ _?$ �1?��। 
 

A. 12% B. 14% 

C. 8% D. 7% 

 

Q46. Out of a box of 500 chocolates, 175 of them are almond and the remaining are milk 
chocolates. The percentage of milk chocolates is _________. 

 

A. 35.0 % B. 53.85 % 

C. 60.45 % D. 65.0 % 

Q46. 500 �Q�लO� �O  �� -]?O /े䜂 ?O 175 -?&?/ �Q�लO� �1 >O? &K? �Q�लO� 9ै䠂। &K? �Q�लO� ______ ��$>$ 9ै䠂। 
 

A. 35.0 % B. 53.85 % 

C. 60.45 % D. 65.0 % 

 

Q47. From a sale, Vijay and Vikram share the profit of 1045 rupees between them in the ratio 2 
: 3. What is Vijay's share? 

 

A. 627 B. 505 

C. 418 D. 209 

Q47. �-िी �O  �+1?�$, �=?0 �1 �=ि/ &K)K 1045 y+0O �O  ल?. �K 2:3 �O  
)�+?$ /े䜂 ??�? �1$O 9ै䠂। �=?0 �? �9स㡍?? ]0? 9P? 
 

A. 627 B. 505 

C. 418 D. 209 

 

Q48. "To every action, there is always an equal but opposite reaction." This is Newton's 
____________ Law of Motion. 

 

A. First B. Second 

C. Third D. Fourth 
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Q48. "91 �ि0? �O  �ल�, 9/O>? �� ?/?) लO��) �=+1I$ ��$�ि0? 9K$I 9P।" 

09 m0K�) �O  ��$ �? __________ �)0/ 9P। 
 

A. ि-/ B. .@ू1? 

C. ?I@1? D. �L-? 
 

Q49. The common name of Sodium Hydroxide is __________ 
 

A. Chalk powder B. Bleaching powder 

C. Baking Soda D. Caustic Soda 

Q49. ?K�!0/ 9?�्䵑Q]??�! �? ??/?m0 )?/ ________ 9P। 
 

A. �?� +?�?1 B. mलI��
� +?�?1 

C. -O��
 � @K?? D. �?�}�� @K?? 
 

Q50. During photosynthesis, green plants take in ________ and give out ________. 
 

A. Sunlight, carbon dioxide B. Sunlight, water 

C. Carbon dioxide, oxygen D. Oxygen, carbon dioxide 

Q50. ��?> ?��O?# �O  &L1?), +L?O ________ लO$O 9ै䠂 �1 ________ �K -?91 �)�?ल$O 9ै䠂। 
 

A. @0ू� �? ि�?>, �?-�0 ??��कᕍ@?�? B. @0ू� �? ि�?>, +?0I 

C. �?-�0 ??��कᕍ@?�?, �कᕍ@I�0 D. �कᕍ@I�0, �?-�0 ??��कᕍ@?�? 
 

Q51. Which of the following is NOT a part of financial statements? 
 

A. Income Statement B. Statement of fund flows 

C. Statement of financial position D. Statement of cash flows 

Q51. �)म⹍) /े䜂 ?O �L)?? �=mI0 �==1# �? �9स㡍?? नही䀂 9P? 
 

A. �0 �==1, B. ,
 ? oलK �? �==1, 

C. �=्䵈I0 +K��>0 �? �==1, D. 0�. oलK �? �==1, 
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Q52. In Accrual basis of accounting, revenue is recognized _____. 
 

A. at the year end B. at the time when amount is received 

C. at the time when income is earned D. at the end of the month in which the income is 

earned 

Q52. लO�? /े䜂 �ि� 0ल (�K्䵓=)) �??1+1 1??स㡍= �K ______��)? ??$? 9P| 
 

A. @?ल �O  

? /े䜂 B. �- 1?भ> ि?o? AK?I AP 

C. �- �0 AK?I AP D. ��@ /9A0O �0 AI� �@ /9A0O �O  

? /े䜂 
 

Q53. Which accounting standard deals with "Accounting for a government grant"? 
 

A. AS-5 B. AS-9 

C. AS-29 D. AS-12 

Q53. �L)?? लO�? /?)� "?1�?1I 
)�&?) �? लO�?��)" ?O �)+�$? 9P? 
 

A. AS-5 B. AS-9 

C. AS-29 D. AS-12 

 

Q54. When the price for a good or service rises, demand for such good or service_____. 
 

A. does not change B. increases 

C. decreases D. becomes nil 

Q54. ?- /?ल 0? ?O=? �ी �ी/$ -"$I 9P, $K �?O /?ल 0? ?O=? �ी /??� _______ 9P| 
 

A. /े䜂 �K� -.ल?= 0AI
 B. -+?I 

C.  �?I D. >ू ू䉍m0 AK �??I 
 

Q55. Which amongst the following is not a rule for accounting? 
 

A. Debit what comes in, credit what goes out B. Debit the giver, credit the receiver 

C. Debit the receiver, credit the giver D. Debit all expenses and losses, credit all income 

and gains 
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Q55. �)म⹍) /े䜂 ?O �L)?? लO�?��) �? �)0/ नही䀂 9P? 
 

A. �K �?? AP �@O ?O--� �1K �1 �K �??? AP �@O ्䵅O ?I� �1K B. .O0O=?लO �K ?O--� �1K, +?0O=?लO �K ्䵅O ?I� �1K 

C. +?0O=?लO �K ?O--� �1K, .O0O=?लO �K ्䵅O ?I� �1K D. @.I }00 �1 A?-0 �K ?O--� �1K, @.I �0 �1 ल?. �K 
्䵅O ?I� �1K 

 

Q56. A company purchases furniture for Rs. 10,00,000. The life of furniture is 8 years and the 
residual value of the furniture is 1,00,000. What will be the amount of depreciation? 

 

A. 1,25,000 B. 1,12,500 

C. 1,00,000 D. 2,25,000 

Q56. �� �� +)I )O Rs. 10,00,000 �? ,�)ा�1 �1I&?| =9 ,�)ा�1 8 ??ल �लO�? �1 �?� 
=�>? /Kल㉍0 9P 1,00,000| $K 
/Kल㉍0्䵩?? 1?�> ]0? 9K�I? 

 

A. 1,25,000 B. 1,12,500 

C. 1,00,000 D. 2,25,000 

 

Q57. Which of the following is NOT a commonly used inventory valuation method under a 
perpetual system? 

 

A. First in first out B. Last in first out 

C. Highest in first out D. Lowest in first out 

Q57. �)म⹍) /े䜂 ?O �L)?? >?�$ �#?लI �O  $9$ =स㡍$�?K�I /Kल㉍0?��) �O  �ल� ??/?m0 $L1 +1 �0K� नही䀂 ��0? ??$? 9P? 
 

A. +AलO 

.1 +AलO -?A1 B. ��1I 

.1 +AलO -?A1 

C. @=ोचᩍ� 

.1 +AलO -?A1 D. -0म⹍0?/ 

.1 +AलO -?A1 
 

Q58. Find the median for the following list of values : 
7,4,4,2,7,6,4 

 

A. 7 B. 2 

C. 4 D. 17 
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Q58. �)म⹍) /Kल㉍0 ?K�� �O  /�ल? -$?��: 
7,4,4,2,7,6,4 

 

A. 7 B. 2 

C. 4 D. 17 

 

Q59. When an independent variable is numerically related to the dependent variable, it is known 
as: 

 

A. Correlation B. Dispersion 

C. Moments D. Regression 

Q59. ?- �� स㡍=$�} +र1=$ा)>Iल, �).ा1 +र1=$ा)>Iल ?O ??��_0�ी $L1+1 ?�-��?$ 9P $K �?O �9$O 9P: 
 

A. �K91लO>0 (@A@
-
/) B. ,P ल?= 

C. लम⹍Aे䜂 D. 91्䵇O>0 (ि?I+�/0) 

 

Q60. What will be the journal entry for the given transaction? 
ABC Ltd. paid salary in cash to Mr. Manish of Rs. 50,000/- in the month of March 2019. 

 

A. Manish A/c Dr. 

To cash A/c 

B. Manish A/c Dr. 

To salary A/c 

C. Profit & loss A/c Dr. 

To salary A/c 

D. Salary A/c Dr. 

To cash A/c 

Q60. �)म⹍) }0=9?1 �O  �ल� ?1)ल ��=�? ]0? 9K�I? 

ABC Ltd )O /?�ा 2019 /े䜂 ्䵦I. /�)? �K Rs. 50,000/- �? =O$) )�&I /े䜂 �&0?| 
 

A. /-0? �??? Dr. 

/-0? ि-? 0�. �??? 
B. /-0? �??? Dr. 

ि-? =O?0 �??? 

C. ल?. �1 A?-0 �??? Dr. 

ि-? =O?0 �??? 
D. =O?0 �??? Dr. 

ि-? 0�. �??? 
 

Q61. Find the compound interest on Rs. 10,000 at 8% per annum for 2 years, if the interest is 
compounded annually. 

 

A. Rs. 1,664 B. Rs. 800 

C. Rs. 11,664 D. Rs. 10,800 
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Q61. 0�& m0?? /े䜂 =?�?ा� $L1 +1 �ि=L्䵍I 9K$I 9P $K Rs. 10,000 �? 8% ��$=?ा &1 ?O, 2 ??लK �? �ि=L्䵍I m0?? ]0? 9K�?? 
 

A. Rs. 1,664 B. Rs. 800 

C. Rs. 11,664 D. Rs. 10,800 

 

Q62. Find the Range for the following data: 50,54,45,33,42,28,60,57,51,37,25. 
 

A. 85 B. 35 

C. 50 D. 120 

Q62. �)म⹍) !O�? �ी 1े䜂? -$?�?: 50,54,45,33,42,28,60,57,51,37,25. 
 

A. 85 B. 35 

C. 50 D. 120 

 

Q63. Which of the following events is NOT a part of events in probability ? 
 

A. Dependent events B. Mutually exclusive events 

C. Independent events D. Mutually inclusive events 

Q63. �)म⹍) /े䜂 ?O �L)?I  �)?, ?�.?=)? /े䜂  �)? �? �9स㡍?? नही䀂 9P? 
 

A. -0.�1  �0?�	 B. +1}+1 
+=���?  �0?�	 

C. }=?
्䵔  �0?�	 D. +1}+1 @/?=O>  �0?�	 
 

Q64. The virtual cost of the next best alternative forgone is called _______. 
 

A. Sunk cost B. Replacement cost 

C. Opportunity cost D. Imputed cost 

Q64. 
�लO ?=Km/ =P��ल㉍+� m0?� �ी �.??I ल?�$ �K _______ �9$O 9P| 
 

A. @
� (�=,ल) ल?�? B. ि-?}-?+0 ल?�? 

C. 
=@1 ल?�? D. 
o0?1K�+? ल?�? 

 
 
 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 09, Divisional Accountant, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

AfterNoon Session 
 

February 27, 2020  Page 19 of 27 

 

Q65. Which one amongst the following is not a part of the economic reforms in India? 
 

A. Liberalization B. Capitalization 

C. Privatization D. Globalization 

Q65. �)म⹍) /े䜂 ?O �L)?? .?1$ �O  ��%ा� ?�??1 �? �9स㡍?? )9ी䀂 9P? 
 

A. �.?1I�1, B. +ू	�I�1, 

C. -0�I�1, D. =P�=I�1, 

 

Q66. Which one of the following is not a limitation of financial accounting? 
 

A. Controlling cost not possible B. Historic in nature 

C. Recording of actual cost D. Comparison of results 

Q66. �)म⹍) /े䜂 ?O �L)?? �=mI0 लO�?��) �? +र1?I/) नही䀂 9P? 
 

A. ल?�? -00
्䵔, @
.= 0 AK0? B. �-?A?भ@� }=रぁ+ �? 

C. =?}?�=� ल?�? �? 
भ.लO�0 D. +91,?/ो䬂 �I ?Iल0? 
 

Q67. Which principle of GAAP states that companies reveal every aspect of functioning in their 
financial statements? 

 

A. The recognition principle B. The full disclosure principle 

C. The matching principle D. The principle of materiality 

Q67. GAAP �? �L)?? �?्䵍?�$ �9$? 9P �� �� +)I )O �)�O  �=mI0 �==1# /े䜂 �)�O  �?0ा �O  91 +9लK �K &>?ा)? �?�9�? 
 

A. 1O��-0>0 भ@द/?
? B. ,I ल )?}�K�1 भ@द/?
? 

C. /P��
� भ@द/?
? D. /�O910?भल�I �? भ@द/?
? 

 

Q68. While preparing bank reconciliation statement, what will be the treatment for deposit in 
transit? 

 

A. It will be deducted from the balance as per 

bank statement 

B. It will neither be deducted nor added to the 

balance as per bank statement 

C. It will be added to the balance as per bank 

statement 

D. It is already included in balance as per bank 

statement 
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Q68. -ै䠂� �/ल?) �==1# -)?$O ?/0, �!+L�?� �) टὍ?��?� �O  ??% �P ?? }0=9?1 ��0? ??��?? 
 

A. -ै䠂� �==1, �O  
0I@?1 �@O >O? @O  �?0? �?��? B. -ै䠂� �==1, �O  
0I@?1 �@O >O? @O 0? ?K  �?0? �?��? 0? AI 
�K?? �?��? 

C. -ै䠂� �==1, �O  
0I@?1 �@O >O? /े䜂 �K?? �?��? D. -ै䠂� �==1, �O  
0I@?1 �@O +AलO AI >O? /े䜂 �K?? �0? AP 
 

Q69. A company made sales of Rs. 5,00,000 at a gross profit margin of 30%. Purchase for the 
year amounted to Rs. 3,70,000 and the value of opening stock was Rs. 20,000, what will 
be the value of the closing stock? 

 

A. Rs.1,10,000 B. Nil 

C. Rs.20,000 D. Rs.40,000 

Q69. �� �� +)I )O Rs. 5,00,000 �ी -Iिी �ी �??/े䜂 �� ल ल?. /?�?ा) 30% �ी %I| �? ??ल �ी �1I& Rs. 3,70,000 �ी �1 
�1��.� /?ल �? /Kल㉍0 Rs. 20,000 %? $K >O?/?ल �? /Kल㉍0 ]0? 9K�?? 

 

A. Rs.1,10,000 B. Nil 

C. Rs.20,000 D. Rs.40,000 

 

Q70. Which one is NOT a type of cash flow activities? 
 

A. Cash flow from operating activity B. Cash flow from investing activity 

C. Cash flow from differentiating activity D. Cash flow from financing activity 

Q70. �)म⹍) /े䜂 ?O �L)?I )�& oलK ��$�=�? नही䀂 9P? 
 

A. @
�ल0 �-?�=�/ @O 0�. oलK B. -0=O> �-?�=�/ @O 0�. oलK 

C. �=.O.I�1, �-?�=�/ @O 0�. oलK D. �=्䵈I0 �-?�=�/ @O 0�. oलK 
 

Q71. A, B and C are three partners of a partnership firm. Out of firm's fund they have 
withdrawn Rs. 34,650, which they distributed in the ratio of 5:7:9. How much amount will 
B receive? 

 

A. 8,250 B. 14,850 

C. 23,100 D. 11,550 
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Q71. A, B �1 C ??�O&?1I �� +)I �O  $I) ??�O&?1 9P| �� +)I �ी �)�? ?O �m9K)े䜂 Rs. 34,650 �)�?लO ?K �m9K)े䜂 5:7:9 
)�+?$ ?O -??$ 
�ल�| $K B �K ��$)I 1?�> �/लO�I? 

 

A. 8,250 B. 14,850 

C. 23,100 D. 11,550 

 

Q72. If operating ratio is 64.67 %, what will be the operating profit ratio? 
 

A. 15.52 B. 22.43 

C. 35.33 D. 42.45 

Q72. 0�& ?��ल) 
)�+?$ 64.67 % 9P $K ?��ल) ल?. 
)�+?$ ]0? 9K�?? 
 

A. 15.52 B. 22.43 

C. 35.33 D. 42.45 

 

Q73. Utility expenses fall under: 
 

A. Capital expenditure B. Deferred revenue expenditure 

C. Revenue expenditure D. Not an expenditure 

Q73. �+0K��$? }00 _________ �O  $9$ �$? 9P| 
 

A. +ू	�I }00 B. �=ल�म⹍-? 1?�}= }00 

C. 1?�}= }00 D. }00 0AI
 AP 
 

Q74. You borrowed Rs. 7,00,000 from a person on simple interest. The interest rate is 10% and 
the tenure is 3 years. What is the total amount to be paid to the lender? 

 

A. 7,00,000 B. 2,10,000 

C. 7,70,000 D. 9,10,000 

Q74. �+)O ��?I }0�ि ?O ?1ल m0??+1 Rs. 7,00,000 �??1 �ल�| m0?? &1 10% 9P �1 
=�? 3 ??ल 9P| $K �#&?$? �K ��$)I 
1?�> लL�?)I 9K�I? 

 

A. 7,00,000 B. 2,10,000 

C. 7,70,000 D. 9,10,000 
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Q75. ABC Private limited company sells 65% of its shares and has 2800 shares left. Originally, 
company had: 

 

A. 4300 Shares B. 8000 Shares 

C. 5000 Shares D. 6300 Shares 

Q75. ABC �?0=O� �ल�/�O! �� +)I)O �)�O  >O0?ा /े䜂 ?O 65% -O�े䜂 �1 
- �?,ा  2800 >O0?ा 9I -�O 9P| $K /Kल$: �� +)I �O  +?? ��$)O 
>O0?ा %O? 

 

A. 4300 >O0@� B. 8000 >O0@� 

C. 5000 >O0@� D. 6300 >O0@� 
 

Q76. Calculate Trade Receivables Turnover Ratio: Credit Revenue from operations=6,00,000; 
Opening Debtors= 1,50,000; Closing debtors= 50,000. 

 

A. 3 Times B. 4 Times 

C. 5 Times D. 6 Times 

Q76. }0?+?1 �?o0 �)ा�=1 
)�+?$ -$?�?: �?0K ?O िO !I� 1??स㡍= = 6,00,000; �+�)�� &O)&?1 = 1,50,000; ]लK�?�� &O)&?1 = 
50,000| 

 

A. 3 �I0? B. 4 �I0? 

C. 5 �I0? D. 6 �I0? 
 

Q77. AS 29 is about: 
 

A. disclosure of accounting policies B. contingencies and events occurring after the 

Balance sheet date 

C. borrowing costs D. provisions, contingent liabilities and contingent 

assets 

Q77. AS 29 �? -?1O /े䜂 9P: 
 

A. लO�?
�0 0I-?0ो䬂 �? ि��I�1, B. @
?Iल0 +्䵔 ??1I� �O  -?. AK0O=?लO ���}/� }00 �1 
 �0?�	 

C. �/?1I �I ल?�? D. ि?=/?0, ���}/� }00 �1 ���}/� @
+�्䵈 
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Q78. Which one is NOT a type of account in accounting? 
 

A. Real B. Personal 

C. Substantial D. Nominal 

Q78. लO�?��) /े䜂 �)म⹍) /े䜂 ?O �L)?? �?$O �? ��?1 नही䀂 9P? 
 

A. =?}?�=� B. }0�कᕍ?�? 

C.  K@ D. 0?//?्䵔 
 

Q79. Find the correct difference between single entry system and double entry system of 
accounting. 

 

A. Single entry system is complex while double 

entry system is simple. 

B. Type of recording is incomplete in single entry 

system while complete in double entry system. 

C. Single entry system is preferable for big 

enterprises while double entry system is 

preferable for small enterprises. 

D. Single entry system is suitable for tax purposes 

while double entry system is not suitable for tax 

purpose. 

Q79. लO�?��) �ी ��ल ��=�? +्䵍�$ �1 &K91I ��=�? +्䵍�$ /O ?9I ,�ा  -$?�?| 
 

A. ��ल ि�=��� +द/-? �9�ल AP ?K .KA1I ि�=��� +द/-? 

@1ल AP| 
B. ��ल ि�=��� +द/-? /े䜂 
भ.लO�0 �? ?1I�? 
+,ू� AP ?K 
.KA1I ि�=��� +द/-? /े䜂 +,ू� AP| 

C. -?I �
 +0I0ो䬂 /े䜂 ��ल ि�=��� +द/-? �K ि/?0?? .I �??I 
AP ?K .KA1I ि�=��� +द/-? �K �K�I �
 +0I0ो䬂 /े䜂 ि/?0?? .I 
�??I AP| 

D. �1 �द.O�0 �O  भल� ��ल ि�=��� +द/-? ���? AP ?K .KA1I 
ि�=��� +द/-? �1 �द.O�0 �O  भल� 
0I��? AP| 

 

Q80. The 'want satisfying' quality of an item when we use or consume it is known as: 
 

A. Wealth B. Scarcity 

C. Utility D. Demand 

Q80. ��?I �I? �ी '=??� ?P��?,?�m�' (�=�0�$? �? ?/???)) ��#=m? �??O 9/ �0K� 0? �स㡍$O/?ल �1$O 9P �?O �9$O 9P: 
 

A. @
+�्䵈 B. �/I 

C. �+0K��?? D. /?	� 
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Q81. Which one of the following is not a factor affecting the price elasticity of demand? 
 

A. Consumption patterns of goods B. Seasonality of demand 

C. Proportion of income going towards the 

purchase 

D. Non availability of demands 

Q81. �)म⹍) /े䜂 ?O �L)?? �?1� /??� /े䜂 �ी/$ �O  ल��लO+) +1 �.?= )9ी䀂 !?ल$? 9P? 
 

A. /?ल �O  @O=0 �? +P�0� B. /?	� �? /L@/ 

C. �1I. �I ?1, �?0O=?ल? �0 �? 
0I+?? D. /?	� �I 
0I+लm/?? 
 

Q82. Probability varies between : 
 

A. 0 and 1 B. 0 and 100 

C. 1 and 100 D. -1 and 0 

Q82. ?�.?=)? ________ �O  -I� -&ल$I 9P| 
 

A. 0 �1 1 B. 0 �1 100 

C. 1 �1 100 D. -1 �1 0 

 

Q83. A card is drawn from a standard pack of 52. What is the probability of it being a king or 
queen? 

 

A. 4/52 B. 8/52 

C. 1 D. 0 

Q83. ??/?m0 52 $?> �O  +mK /े䜂 ?O �� +m? �)�?ल? �0?| =9 1??? 0? 1?)I 9K)O �ी ?�.?=)? ��$)I 9K�I? 
 

A. 4/52 B. 8/52 

C. 1 D. 0 

 

Q84. Which of the following is NOT a type of index number? 
 

A. Price index B. Quality index 

C. Quantity index D. Value index 
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Q84. �)म⹍) /े䜂 ?O �L)?? �m!O]? ?�_0? �? ��?1 नही 9P? 
 

A. �I/? @�ू� B. �I,=्䵈? @ू�� 

C. /?्䵔? @�ू� D. /लू㉍0 @�ू� 

 

Q85. Ram purchased goods from Sham for Rs. 12,50,000 and paid Rs. 5,60,000 in cash. What 
will be the journal entry for this transaction? 

 

A. Ram A/c Dr. 12,50,000 

To Sham A/c 12,50,000 

B. Purchase A/c Dr. 12,50,000 

To Sham A/c 12,50,000 

C. Purchase A/c Dr. 12,50,000 

To cash A/c 5,60,000 

To Sham A/c 6,90,000 

D. Ram A/c Dr. 12,50,000 

To cash A/c 5,60,000 

To sham A/c 6,90,000 

Q85. 1?/ )O >?/ ?O Rs. 12,50,000 �? /?ल �1I&? �1 Rs. 5,60,000 )�& �&�| �? }0=9?1 �ी ?1)ल ��=�? ]0? 9K�I? 
 

A. 1?/ �??? Dr. 12,50,000 

ि-? >?/ �??? 12,50,000 

B. �1I. �??? Dr. 12,50,000 

ि-? >?/ �??? 12,50,000 

C. �1I. �??? Dr. 12,50,000 

ि-? 0�. �??? 5,60,000 

ि-? >?/ �??? 6,90,000 

D. 1?/ �??? Dr.12,50,000 

ि-? 0�. �??? 5,60,000 

ि-? >?/ �??? 6,90,000 

 

Q86. ABC Ltd purchased a plant and some machinery 4 years back for Rs. 11,00,000 which 
was depreciable @ 15%. What is the written down value of such a plant and machinery 
now? 

 

A. 4,40,000 B. 5,74,207 

C. 9,35,000 D. 6,60,000 

Q86. ABC �ल. )O 4 ??ल +9लO Rs. 11,00,000 /े䜂 �� �?1�?)? �1 �� � 0�} �र1&O �??�? /Kल㉍0्䵩?? @ 15% 9P| 
- �?O 
�?1�?)O �1 0�} �? र1�) !?�) (9?�?ल) /Kल㉍0 ]0? 9K�?? 

 

A. 4,40,000 B. 5,74,207 

C. 9,35,000 D. 6,60,000 
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Q87. AS-9 deals with: 
 

A. Revenue arising from construction contracts B. Revenue arising from hire-purchase, lease 

agreements 

C. Sale of goods D. Revenue of insurance companies arising from 

insurance contracts 

Q87. AS-9 ?O ??1K�?1 1�$? 9P: 
 

A. -0/?�, 
0I-
/ @O �.10O=?ल? 1?�}= B. ��1?0?-�1I., +टὍ�O �O  @/�L?O @O �.10O=?ल? 1?�}= 

C. /?ल �I -I्䵅I D. -I/? �
 +-00ो䬂 �? -I/? 
0I-
/ @O �.10O=?ल? 1?�}= 
 

Q88. When the change in price of a commodity affects its demand, it is known as: 
 

A. Price elasticity of demand B. Price elasticity of supply 

C. Cross elasticity of demand D. Income elasticity of demand 

Q88. ?- /?ल �ी �ी/$ �? 
?1 �?�ी /??�+1 +!$? 9P $K �?O �9$O 9P: 
 

A. /?	� �I �I/? ल��ल??? B. �+ू ू䉍-? � �I �I/? ल��ल??? 

C. /?	� �I ्䵅?@ ल��ल??? D. /?	� �I �0 ल��ल??? 
 

Q89. Which statement among the following is true? 
 

A. As consumption increases, marginal utility also 

increases 

B. As consumption decreases, marginal utility also 

decreases 

C. As consumption increases , marginal utility 

decreases 

D. As consumption increases, marginal utility gets 

double 

Q89. �)म⹍) /े䜂 ?O �L)?O �%) ?9I 9P? 
 

A. @O=0 -+?? AP ?K @I/?
? �+0K��?? .I -+?I AP B. @O=0  �?? AP ?K @I/?
? �+0K��?? .I  �?I AP 

C. @O=0 -+?? AP ?K @I/?
? �+0K��??  �?I AP D. @O=0 -+?? AP ?K @I/?
? �+0K��?? .KA1I AK?I AP 
 

Q90. In which demand curve is the slope same on all points? 
 

A. Downward sloping demand curve B. Straight line demand curve 

C. Upward sloping demand curve D. Negative slope demand curve 
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Q90. �L)?O /??� �=ा+1 (/K!+1) ?.I �-�&K� �+1 स㡍लK+ ("?ल) =9I 19$? 9P? 
 

A. /?	� /K? �I -0म⹍0 9.>? /े䜂 �?0O=?लI +?ल B. @I/I 1O�?=?ल? /?	� /K? 

C. /?	� /K? �I �o=� 9.>? /े䜂 �?0O=?लI +?ल D. /?	� /K? �? 0�?1?m/� /K? 
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